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Homework no. 1

Problem 1

Assume a Dixit-Stigiliz utility function, 
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Consider the problem:

   
[image: image3.wmf]ò

ò

+

=

1

*

0

)}

(

{

)

(

)

(

)

(

)

(

n

t

t

t

n

t

t

j

c

dj

j

c

j

p

dj

j

c

j

p

Z

Min

t

e

 
    s. t. 
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Derive the price index:
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Problem 2

Consider the maximization problem:

Max 
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s.t. 
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Derive the first order conditions:

  1)  The Euler condition (saving rule)
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2)  Money Demand as a function of 
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  3)  Labor Supply of labor category j as a function of 
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Problem 3

Consider the maximization problem:
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Show that the demand for good j is given by:
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Problem 4

Consider the profit maximization problem:
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Show that:

  (a)  
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where
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and 
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 is the monopolistic mark up.

  (b)  Compute the labor market mark down which is the wedge between the marginal productivity of labor 
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  and the real wage 
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